HIGHER MATHEMATICS
Answers to Exam Questions on The Circle
1.
D

2.
B

3.
A

4.
B



5.
C

6.
A

7.
B

8.
C
9.
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13.(a)
(10, 6)

(b)

[image: image5.wmf]4

)

6

(

)

10

(

2

2

=

-

+

-

y

x


14.

[image: image6.wmf]2

3

25

 units2




15.(a)
P(0, 2)

(b)
AB = 10
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, hence the equation does not represent a circle
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24.(a)
A(6, 6) and B((2, (2)

(b)
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25.
proof;   (2, 1)

26.
proof;   (1, 4)

27.(a)
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(b)
proof;   (2, 6)

28.
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29.(a)
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(b)
proof;   (3, 1)
30.(a)
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(b)
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36.
centre = (1, 1);   proof (show that 
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 are the gradients of 

   the tangents)
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(b)
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38.(a)
proof

(b)
proof

(c)
PQ
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40.(a)
proof

(b)
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(b)
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(c)(i)   
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(ii)   T((9, 9)

42.(a)
C1: centre = ((5, 6), 
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;     C2: centre = (3, 0), 
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(b)
The distance between the centres is 
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centre = ((4, (2), 
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                                            of the radii is 
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                                            intersect since 
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44.(a)(i)   proof
(ii)
proof (show that 
[image: image51.wmf]2
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     (c)      
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45.(a)
A(1, 3) and B((3, (5)

(b)(i)
C((5, 1)
(ii)
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(b)
B(0, (3)
(c)
C((2, 1)

     (d)
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47.(a)
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48.(a)
centre = ((1, (2), 
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(c)
proof


     (d)
proof

49.(a)
P((3, (1) and Q(1, 7)

(b)
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50.(a)
     proof
(b)
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     (c)(i)   C(2, 3)
(ii)
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51.(a)
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(b)
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(c)
(7, 1)

     (d)
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52.(a)
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(b)
centre = (3, (2);   
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53.(a)
P(1, (2) and Q(3, 4)

(b)
proof (show that 
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54.(a)
Q(12, 10)
(b)
P(4, 10)
(c)
C(8, 11)

55.(a)(i)   proof
(ii)
P((1, 4)
(b)
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56.(a)(i)   A(12, (5);   OA = 13
(ii)
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(b)(i)
B(8, 8)

(ii)
F(14, 12) and C
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proof

58.

[image: image77.wmf]225

)

3

(

)

4

(

2

2

=

+

+

-

y

x





59.(a)

[image: image78.wmf]15

=

r



(b)

[image: image79.wmf]400

)

7

(

)

6

(

2

2

=

-

+

-

y

x


60.

[image: image80.wmf]25

)

4

(

)

3

(

2

2

=

-

+

-

y

x



61.

[image: image81.wmf]13

23

<

<

-

p


_1577387739.unknown

_1577388246.unknown

_1577389922.unknown

_1577390228.unknown

_1577443095.unknown

_1577443282.unknown

_1577443418.unknown

_1577443477.unknown

_1577443575.unknown

_1577443574.unknown

_1577443466.unknown

_1577443329.unknown

_1577443381.unknown

_1577443295.unknown

_1577443210.unknown

_1577443254.unknown

_1577443131.unknown

_1577443014.unknown

_1577443043.unknown

_1577390229.unknown

_1577390009.unknown

_1577390083.unknown

_1577390126.unknown

_1577390227.unknown

_1577390047.unknown

_1577389956.unknown

_1577389991.unknown

_1577389943.unknown

_1577389808.unknown

_1577389863.unknown

_1577389889.unknown

_1577389823.unknown

_1577388346.unknown

_1577389781.unknown

_1577388275.unknown

_1577387946.unknown

_1577388099.unknown

_1577388176.unknown

_1577388213.unknown

_1577388122.unknown

_1577388049.unknown

_1577388086.unknown

_1577388024.unknown

_1577387842.unknown

_1577387903.unknown

_1577387918.unknown

_1577387869.unknown

_1577387776.unknown

_1577387806.unknown

_1577387765.unknown

_1577387236.unknown

_1577387536.unknown

_1577387623.unknown

_1577387687.unknown

_1577387704.unknown

_1577387632.unknown

_1577387563.unknown

_1577387602.unknown

_1577387550.unknown

_1577387446.unknown

_1577387494.unknown

_1577387515.unknown

_1577387464.unknown

_1577387365.unknown

_1577387417.unknown

_1577387336.unknown

_1577387057.unknown

_1577387164.unknown

_1577387190.unknown

_1577387200.unknown

_1577387175.unknown

_1577387104.unknown

_1577387122.unknown

_1577387079.unknown

_1577386913.unknown

_1577386966.unknown

_1577387038.unknown

_1577386944.unknown

_1577386861.unknown

_1577386897.unknown

_1577386837.unknown

